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4) P awl d o wos §, 3 ot % 3 e T @ R

Fo? questions having more than one part, the answers to those parts are to be
wrntten together in continuity.

) TR IW foreR | ¢d wm w1 waiw arava Rrd|
Write down the serial number of the question before attempting it.

6) % T @ st wareeon & forelt s B 92 / e / Rdevm AR WD ww
F 99 B A T ) ??‘*

If there is any kind of error / difference / contradiction in the Hind1 & English

V:lr.sdiﬁns of the question paper, the question of Hindi version should be treated
valid.
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1)  FgfEreeaes 999 : (i / xviii)

Multiple Choice Questions : (i to XViii)

) AW T T -

[1}
HA) &= q) =W
") @ 3) wm
Generally levels of management are -
é), Three B) Four
C) Two D) Seven
)  Fae & e - (1]
HA) Fa=m 9) A
R) wu=w 3) wiasgard
Characteristic of planning is -
A) Control B) Direction
C) Coordination + D> Futuristic
i) 3ROT T WEE § - [1]
HA) I8 Fa=m q)  waeh ey

|) 7Y v g
Importance of delegation is -
A) Better control

3) vim P

B)~ Effective management
C) Reliefto top management D) Quick decision

iv) mn&mmmmﬁ-

11]
F) favmfreton q) TR ggaw 3 Avem
q) fifdn

3) T = fukm

The first step of organising process is -
A)  Departmentalisation

B)~ Identification and division of work
C) Reporting

D) Assignment of duties
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V) wftvern &) o 2 ofe Rfa E -
¥) w=wrad g) @A
w) foeon z) EHEATE AT

On the job method of training is -
A) Cinema B) Conference
k‘/g)’ aching D) Case study
W) avfsran fman @ aifw wwor § -

H) T H FH a) @4

W) FH@Em 2)  oTEvaEd ge

Final step of motivation process is -

A) Reduction of tension B) Tension

C) Dirives D) Satisfied needs
i) Tt & SrER we i A e § -

H) s q) Ha

|) ®EH q) A EGR

The last need of human being according t0 Maslow is -

A) Physiological B) Safety

C) Status D) Self actualisation
viii) st Ao H gt a1 § -

zn) frm a) EHEE PlET

q) ued g) et i

The psychological barrier of effective communication is -

A) Rules B) Premature evaluation

C) Status D) Organisational policy
ix) forgeon wfsran @1 TUH T e

F) [UREH HEAE q) Gt AAEA H A

) faaer @ faveao z) freare areRt @ Ruko

The first step of control process IS -
A) Corrective action
B) Measure of actual performance
C) Analysing deviations
- D) Establishment of performance standard
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\) Fauvnhutm'qm‘ﬁnﬁufmi- (1]
H) 7) faywmam
H) 3 9 z) Ffm

I'he element of marketing mix are involved in 'Price’ is -

A)  Price level B) Advertisement

(') Public relation D))  Packaging

\) o fRwEwewiw L amt & faraes fren a1 wwan §) [1]
H) @A T) =N
W) uf 3 @
['he elements of marketing mix can be classified into categories.
A) Three _B) Four
C) Five D) Two

Xil) FR-7 HfuFER saEEfrs wul @ e @g F v G g R aa enfa S @
&1 AN WS FAT 2 ? [1]
)  foven =1 e d) gua @ AR
") | F FfuFw 3) gAar & iU

Which consumer right gives the business firms freedom to set up their own
consumer service and grievances cell?

A) Right to education B) Right to be informed
C) Rightto safety D) Right to Heard
iii )\ &3 & werae § - (1]
A) T |9) ufska
") it g) fem

Help in determining decision is -

Mdgct B) Procedure

() Policies D) Rules
XIV) qa; .................. ml [l]
H) BFH[EASA AR d) WAA A

W) TR 3) oIS g

Taylor was a/an _
w/m:?anical E-ngineer “B) Mining Engineer

C) Accountant D) Electrical Engineer

S8-31-Buy, Studies 7025 [ Turn Over

(3 scanned with OKEN Scanner



(0 et i e -
3) R q) A T |
|) waH 3) WA
The essence of mental revolution 1S -
A) Decentralisation L/Hr'écienﬁﬁc management |
C) Combination D) General management |
xvi) < § - .
H) TR 9) WA
") ;R g) wWaA |
Current assets 1S -
A) Fumniture B) Machine 1l
) Debtor D) Building ‘
m)mwagm&ﬁgwuqﬁrmmﬁﬁﬂuﬁmmm%,mi— (1)
H) e 9) WIS
q) wwe = g) WWETH |

That part of a brand which can be recognised but is not utterable is called -

A) Trade mark

9, Brand mark
xviil) B3R TR & -

) @

")

Levels of packaging are -

A) Two
C) Six
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B) Brand

D) Brand name

!

¥) =R

3) T

B) Four
U Three
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2) frep Torl Y gfd AT < (1 9 vi)
Fill in the blanks : (1tovi)

) TR T e QN 1]
Look ', onlJewelry.
D) ererssvennnse T SRR SR ST % oG R e [L!
has same importance for consumer and business.
i) e Al 5 T A AR TR AR E .o 1]
The most popular classification of leadership style is based on _m:_#_ _ ﬂri
V) PRI oo wisean 21 (1]
Direction is a ________4process.
V) WA T e w1 gl [1]
Recruitment 1s a step.
;) T fra=m & el w1 Ruiton & g [1]
establishes standards for controlling.
3) e e 9 : (1 9 xii)
Very short answer type questions : (1 to X1i)
) oaEEte e e e ol R, e il (1]
What is the meaning of business finance, Clarify.
i) wE % Rigra wd & forg anieyi w1 w5 w5 g, w2 1)
The principles of management are guidelines to action, How?
iii) ‘e A = T A B7 (1]
What is the meaning of "Caveat Venditor"?
iv) o @ H gig R @R e 1)
How advertisement increases the cost?
v) faame @ @i o @ el N
Write any one advantage of advertisement.
vi) T 3TeB AIUE T i Hi3 T e feaRaml 0

Write any one characteristic of a good brand name.
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vit) * fivon T At dgeE 21 SR 1]
"Motivation is an internal fecling." How?

vil) wdnfeat & =g °, st ahenadt’  wwgm 1]
Explain the 'Personality Test' in selection of employees.

IX) Mol T °, HETHE WEA Grel wl UG 82 1]
In your opinion, where functional structure of organisation suitable.

X) TS USUF & &U H, e @ v ugwm felau) [}
As a manager, write the importance of decentralisation.

xi) “ETEA ye @ ared Farev| [1]
Mention the meaning of 'organisation'.

Xil) ‘WE & T AE T GHAl FR? [1]

'Management can not be seen.' How?

gug - d
SECTION - B
g 99 : (49 13) 1
Short answer type questions : (4 to 13)

4) wau & fadi @t wral @t auEsu 12}
Explain any two functions of management. 1

5) s @ 39w wHAd 27 2]

What do you mean by science?

6) 3t woT % Fe A w1 =T R S Hif 2]

H) g@Eo |
q) EaT 9aR A

Show the following network of formal communication through a chart:
a) Chain |
b) Freeflow
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7) Wl e, Frare wen o g qatie & ¥ 2]

In your opinion, how planning and controlling are interrelated?

8) mhﬁﬁmwmmm%ﬁiamm1 (2]
Mention any two advantages of critical point contro] and management by exception.

9) m@ﬁmﬁwﬁaaﬂﬂmﬁﬁwaﬁaﬁm| 2]
N) =mEEm Hi yHR

4) WaeE

Explain the following factors of affecting requirement of working capital.
a) Nature of business

b) Scale of operation

10) 2= awk’ ®m 22 2] |
What is '"Trade mark'?

11) IR+ q6a F9 8 2 wwi | S T w@wQ 2, 9 gR veRta SRl [2]
Product may be classified into two broad categories, show with the help of a
chart.

12) o & Fe= sfteend =t gozeg
H) [ AUwR
9) gfua fey wm @ st
Explain the following rights of consumers.
a) Right to safety '
| b) Right to be informed |

2]

13) ‘Rren smar’ %! | @ gozmu 2] |

Explain the 'District forum' in brief.
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T O (149 17)

Long answer type questions (14to0 17)

14) warm & smamit & auis Sifv) (@8 @ freg) 13)
Describe the dimensions of environment. (Any three points) |

3ga/OR
famZraon €t fadeanstt =t vk Sk (13 = frg)

Describe the characteristics of demonetisation. (Any three points)

15) frarem 9 ftvar @ ama @ au 22 3]
What do you mean by 'Procedure' in planning? |

Jaar/OR
frarm 9 T’ @ 3w A 22

What do you mean by 'Budget' in planning? !
16) o< 1@ °, yuTia T g % HE @4 2 =@z [3]

In your opinion, mention any three disadvantages of departmental structure of
organisation.

FUar/OR
U T 4, TUT SeA g1 & Wi €9 O a6

In your opinion, mention any three advantages of departmental structure o
organisation. https://www.rajasthanboard.com

(17) Yo e , o i v 2 i 2 < oy

n your opinion, what is fixed capital? Give any two examples.
HUa1/OR

AR T f, A GR w27 B g S

[n your opinion, What is working capital? Give any two eXamples

3
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FreeuTeTE I (1R | 20) (e den 200 )

Fssay type questions @ (18 to 20) (word limit 200 words)

18) wmrdieTm & e @ quiz @i [4]
Describe the objectives of standardisation.
Fua/OR
A0 e ) /IR Y@ @ gui Sifw

Describe the Favol's scalar chain.

19) v& yaus & ¥ H, 9iem 3 famm @ @16 #t 27 et 5 an o @t wgwzeel (4]

As a manager, explain any four advantages of training and development to the
organisation.

E/OR
UF UE-UF & ®U °, 997 Ulhan o TN TR RO S gEneu|

As a manager, explain the first four steps of selection process.

20) fadra frofa &1 awifaa @ T 6 IR Rt & FU iR (4)
Describe any four factors affecting the financial decision.

aya/OR
rorré gt 1 srETEEA W At F A Rl T el @ auia fif

Describe any four factors affecting the requirement of fixed capital.

OJOXOXO)
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